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[nstructions:

(1) All questions are compulsory.
(2) Draw neat diagrams wherever applicable.
(3) Assume suitable data, {f necessary.

Max. | CO | BT
Marks level
Q1 | Solve any six questions out of eight. g 12
i) What is travelling salesman problem? 2 COo4| R
ii) | Define Big-Oh (O), Omega (), and Theta () notations . 2 o1 =&
iii) | What is Greedy approach? - €031 R
iv) | What are the best case, worst case and average case time complexity of Quick 2 CO2 U
sort algorithm?
v) | Write algorithm of Min-Max method. 4 2 Coz2. U
vi) | What is Graph Colouring? 2 CO5| R
vii) | What are spurious Hit and Valid Hit is in string Matching Algorithm? 2 Co6| R
viii) | List different search techniques in Branch and Bound? 2 COos5| R
Q.2 | Solve any four questions out of six. 16
i) Discuss in detail about Rabin Karp String matching algorithm. 4 co6| U
ii) |Find a minimum cost path from 3 to 2 in the given graph using dynamic 4 CO4 | Ap
programming.
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iii) | Find the following recurrence relation by forward substitution method. 4 CO1| Ap
T(n)=T (n-1) +2n-1;ifn>0 T(n)=0; if n=0
iv) | Find out maximum and minimum elements of an array: 4 CO2 | Ap
X [0:9] = (45, 8375, 17, 43, 37, 80, 53, 61, 22) Min-Max algorithm.
v) | Trace Quicksort for the data set: 4 CO3 | Ap
A={100, 85, 179, 354, 450, 223, 620, 145, 456}
vi) | Find MST with Prim’s algorithm. - 4 CcO2 1;
7
Q.3 | Solve any two questions out of three. 16
i) Discuss in detail Insertion Sort and solve A={21, 17, 07, 33, 69, 29, 55, 19, 45, 8 CO1| Ap
54}.
ii) | Solve the 4-Queens problem with state space tree for the same. 8 CO5| Ap
ol
iii) | What is 0/1 Knapsack and Fractional Knapsack problem? 8 CO4 | Ap
Solve the following using fractional knapsack method. Knapsack capacity
C=11. Profit (P) = {10, 5, 15,7, 6, 18,3} , Wight (W)= {2,3,5,7, 1,4, 1}.
Q.4 | Solve any two questions out of three. 16
i) Sort given elements using merge sort: {50, 31, 71, 38, 12, 33, 5,710, 35, 100} 8 CO2| Ap
ii) | Apply KMP Algovrithm for the following string: 8 CO6 | Ap
T=SOMAIYAVIDYAVIHARUNIVERSITY  where P = VIHAR
iii) | Solve the following Job sequencing with deadlines problems. n=7, 8 CO3| Ap

| Profits (pl, p2, p3, p4, p3, p6, p7) = (3, 5, 20, 18, 1, 6, 30.
| Deadlines (d1, d2, d3, d3, d4, d5, d6,d7)=(1, 3,4, 3,2, 1,2)
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